NASBR Statement on Wind Energy Impacts on Bat Populations

The bat conservation community and wind industry have worked together for almost two decades to measure the impact of wind energy generation on bats and research techniques to minimize those impacts. This research has identified actions that can be implemented to reduce the threat to bat populations. Ultimately, the state of scientific understanding is clear that migratory bat species are at risk and that this risk can be reduced if mitigation tools and protocols are implemented immediately.

Wind energy is a valuable part of reducing carbon emissions and limiting the negative impacts of global climate change. However, wind energy has measurable, negative impacts on bat populations¹. As the world sets necessary carbon reduction goals, wind energy generation capacity is expected to grow exponentially by 2050. As wind energy growth accelerates, the threat to bat populations also increases, requiring immediate action to implement available solutions.

Wind turbines kill bats of multiple species¹, including at least 28 bat species in the United States and Canada combined. This is over half of the bat species found in these countries². Bat fatalities are also documented at Mexican wind farms^{3–5}, although fewer reports exist from Mexico. It is possible that over 1 million bats were killed by wind turbines in North America in 2023 (Tables 1 & 2). Most bats killed at North American wind turbines are migratory, including hoary bats (*Lasiurus cinereus*), eastern red bats (*Lasiurus borealis*), and silver-haired bats (*Lasionycteris noctivagans*). In particular, fatality levels of hoary bats are expected to cause at least a 50% decline in populations by 2050 unless the wind industry immediately adopts fatality reduction measures that reduce fatality levels by at least 50%⁶.

In accordance with the best available science, the North American Society for Bat Research (NASBR) encourages a rapid reduction in bat fatalities at wind energy facilities, at minimum, an immediate reduction of bat fatalities by 50%. This minimum reduction is a necessary stopgap measure to reduce the impact of wind turbines on bat populations, given the predicted expansion of the wind energy industry. This minimum target will need to be revisited and revised as we learn more about the cumulative impact that wind energy development continues to have on bat populations and as additional mitigation tools are developed and/or proven.

The following actions can be immediately implemented to reduce fatality levels:

1. Site wind energy away from hibernacula and areas with high abundance and/or diversity of bats.

Constructing wind energy facilities in areas of high bat activity can increase collision risk for bats^{7,8}. Avoidance of high-risk sites is the first step of the mitigation hierarchy⁹. Wind project feasibility assessments should include surveys to identify key roosting sites, maternity colony sites, important foraging areas, travel corridors, and migration routes near proposed wind turbine locations. Defining buffer zones around these sensitive areas is an established approach to avoid negative consequences for bat populations¹. There is no current unified guidance on appropriate buffer sizes for habitat features for bats, but some guidance exists, including in Europe¹⁰, the United States¹¹, Canada¹², and South Africa¹³. Substantial setbacks from high-quality bat habitats and likely migration routes are needed given that bats may be attracted to wind turbines from a distance¹.

2. Feather turbine blades* below the manufacturer's cut-in speed[†] from dusk to dawn during all times of the year that bats are active

Feathering turbine blades below the manufacturer's cut-in speed to prevent free-wheeling (spinning when no energy is being produced) is thought to reduce bat fatalities by approximately 30% while causing negligible energy loss¹⁴. Feathering turbines is a best management practice recommended by industry groups¹⁵.

3. Curtail turbines[‡] below at least 5.0 m/s wind speeds at night during periods of high risk

Since 2008, the wind energy industry has collaborated on studies that have consistently demonstrated the efficacy of reducing bat fatalities by curtailing turbines during periods of highest risk (e.g., autumn migration in most of North America). While the reduction in fatalities from curtailment varies both temporally and spatially, curtailment is estimated to reduce cumulative fatality levels across facilities and years by 54–69% at 5.0 m/s and 68–80% at 6.0 m/s¹⁴. Higher fatality reductions can be achieved with higher cut-in speeds and will be necessary if bat populations are lower than experts predict, action is not immediately taken, or adoption of curtailment is not universal.

4. Standardize data collection and reporting across states and provinces, including open data accessibility.

Coordinated national and international efforts for data collection and aggregation of bat fatality monitoring at wind energy facilities are needed. The Bats and Wind Energy Cooperative and other multistakeholder groups have identified unified data collection protocols and aggregation as a high-priority research need in every science meeting since 2008¹⁶. Current efforts to aggregate data have been hindered by data inconsistency and poor data quality. Consistent collection of quality data under international standards and open data framework will facilitate broader-scale analysis that will inform the cumulative and species-specific impacts of wind energy to bat populations. International coordination aligns with cooperative efforts to conserve bats among the US, Canada, and Mexico¹⁷. The development of such data standards and data accessibility will only be possible through transparent and close coordination between states, provinces, industry, and other relevant stakeholders.

^{*}Adjusting the angle of the rotor blade parallel to the wind, or turning the whole unit out of the wind, to slow or stop blade rotation. The goal being to slow blade tip speed to less than bat flight speeds.

⁺ The wind speed at which the generator is connected to the grid and producing electricity. The manufacturer's set cut-in speed for most contemporary turbines is between 2.0 and 4.0 m/s. On some turbines, blades will spin at full or partial RPMs below cut-in speed when no electricity is being produced.

[‡] The act of limiting the supply of electricity to the grid during conditions when it would normally be supplied. This is usually accomplished by cutting-out the generator from the grid and/or feathering the turbine blades. The turbine's computer system is programmed to a cut-in speed higher than the manufacturer's set speed, and turbines are programmed to stay feathered at 90° until the increased cut-in speed is reached over some average number of minutes (usually 5–10 min), thus triggering the turbine blades to pitch back "into the wind" and begin to spin normally.

References

- 1. Voigt, C., E. Bernard, H. J. Chun-Chia, W. F. Frick, C. Kerbiriou, F. Matthews, K. MacEwan, A. Rodriguez-Duran, C. Scholz, P. Webala, J. Whitby, and M. Whitby. Towards solving the global green-green dilemma between wind energy production and bat conservation. *BioScience*. In Press (2024).
- WEST, Inc. Regional Summaries of Wildlife Fatalities at Wind Facilities in the United States and Canada, 2022 Report from the Renew Database. <u>https://connect.west-</u> inc.com/Renew/RenewReport2022.html (2023).
- Bolívar-Cimé, B., Bolívar-Cimé, A., Cabrera-Cruz, S. A., Muñoz-Jiménez, Ó. & Villegas-Patraca, R. Bats in a tropical wind farm: species composition and importance of the spatial attributes of vegetation cover on bat fatalities. J. Mammal. 97, 1197–1208 (2016). <u>https://doi.org/10.1093/jmammal/gyw069</u>
- Briones-Salas, M., Lavariega, M. C. & Moreno, C. E. Effects of a wind farm installation on the understory bat community of a highly biodiverse tropical region in Mexico. *PeerJ* 5, e3424 (2017). <u>https://doi.org/10.7717/peerj.3424</u>
- Agudelo, M. S., Mabee, T. J., Palmer, R. & Anderson, R. Post-construction bird and bat fatality monitoring studies at wind energy projects in Latin America: A summary and review. *Heliyon* 7, e07251 (2021). <u>https://doi.org/10.1016/j.heliyon.2021.e07251</u>
- Friedenberg, N. A. & Frick, W. F. Assessing fatality minimization for hoary bats amid continued wind energy development. *Biol. Conserv.* 262, 109309 (2021). https://doi.org/10.1016/j.biocon.2021.109309
- 7. Ellerbrok, J. S., Delius, A., Peter, F., Farwig, N. & Voigt, C. C. Activity of forest specialist bats decreases towards wind turbines at forest sites. J. Appl. Ecol. 59, 2497–2506 (2022). <u>https://doi.org/10.1111/1365-2664.14249</u>
- MacEwan, K., Morgan, T., Lotter, C. & Tredennick, A. Bat activity across South Africa: implications for wind energy development. *African Journal of Wildlife Research* 212–222 (2020). <u>https://doi.org/10.3957/056.050.0212</u>
- 9. Bennun, L. et al. Mitigating biodiversity impacts associated with solar and wind energy development: Guidelines for project developers. <u>https://doi.org/10.2305/IUCN.CH.2021.04.en</u> (2021).
- 10. Rodrigues, L. et al. Guidelines for consideration of bats in wind farm projects Revision 2014. (2015).
- Hise, C., Obermeyer, B., Ahlering, M., Wilkinson, J. & Fargione, J. Site Wind Right: identifying lowimpact wind development areas in the central United States. *Land* 11, (2022). <u>https://doi.org/10.3390/land11040462</u>
- 12. Saskatchewan Ministry of Environment. *Wildlife Siting Guidelines for Saskatchewan Wind Energy Projects*. (2016). Available at: <u>https://publications.saskatchewan.ca/#/products/101100</u>
- 13. MacEwan, K., J. Aronson, E. Richardson, P. Taylor, B. Coverdale, D. Jacobs, L. Leeuwner, W. Marais, and L. Richards. *South African Bat Fatality Threshold Guidelines: Edition 3*. (2020). Available at: https://tethys.pnnl.gov/publications/south-african-bat-fatality-threshold-guidelines-edition-3
- 14. Whitby, M. D., Schirmacher, M. R. & Frick, W. F. The State of the Science on Operational Minimization to Reduce Bat Fatality at Wind Energy Facilities. A Report Submitted to the National Renewable Energy Laboratory (2021). Available at: https://tethys.pnnl.gov/sites/default/files/publications/Whitby-et-al-2021.pdf
- 15. American Clean Power. Wind energy industry announces new voluntary practices to reduce overall
- impacts on bats by 30 percent. <u>https://cleanpower.org/news/wind-energy-industry-announces-new-voluntary-pract/</u> (2015).
- 16. Bats and Wind Energy Cooperative (BWEC). <u>https://tethys.pnnl.gov/organization/bats-wind-energy-cooperative-bwec</u>.

- 17. North American Bat Conservation Alliance. Letter of Intent related to efforts to promote conservation of bats in the United Mexican States, The United States of America, and Canada. Preprint at https://batconservationalliance.org/wp-content/uploads/LOI-Bat-Conservation-signed.pdf (2015).
- 18. Allison, T. & Butryn, R. *AWWI Technical Report: 2nd Edition: Summary of Bat Fatality Monitoring Data Contained in AWWIC*. 28 <u>https://awwi.org/resources/awwic-bat-technical-report/</u> (2020).
- 19. Rand, J. T. *et al.* A continuously updated, geospatially rectified database of utility-scale wind turbines in the United States. *Sci. Data* **7**, 15 (2020). <u>https://doi.org/10.6084/m9.figshare.11441310</u>
- Arnett, E. B. & Baerwald, E. F. Impacts of Wind Energy Development on Bats: Implications for Conservation. in *Bat Evolution, Ecology, and Conservation* (eds. Adams, R. A. & Pedersen, S. C.) 435– 456 (2013). <u>https://doi.org/10.1007/978-3-319-25220-9_11</u>.
- 21. Hein, C. D. & Schirmacher, M. R. Impact of wind energy on bats: a summary of our current knowledge. *Human-Wildlife Interactions* **10**, 19–27 (2016). <u>https://doi.org/10.26077/x7ew-6349</u>
- 22. Zimmerling, J. R. & Francis, C. M. Bat mortality due to wind turbines in Canada. J. Wildl. Manag. 80, 1360–1369 (2016). <u>https://doi.org/10.1002/jwmg.21128</u>
- Canadian Wind Turbine Database Open Government Portal. <u>https://open.canada.ca/data/en/dataset/79fdad93-9025-49ad-ba16-c26d718cc070</u>. Accessed Jan 19, 2024.

Calculations of Total Bat Fatalities in the United States and Canada

Table 1. Estimated total bat mortality in the United States in 2023 based on the per megawatt (MW) bat mortality reported by the American Wind Wildlife Institute¹⁸ and 2023 installed capacity in the US Wind Turbine Database¹⁹. Following the methods of Arnett and Baerwald²⁰. See Hein and Schirmacher²¹ for a review of methodology and biases associated with total fatality estimates.

Region	Mean Bat fatalities / MW ¹⁸	MW Installed Capacity in 2023 ¹⁹	Total Mortality
Midwest	10.87	36,244	393,972
Mountain Prairie	3.66	29,256	107,077
Northeast	8.65	6,663	57,635
Pacific	1.11	8,393	9,316
Pacific southwest	1.99	6,006	11,952
Southwest	6.01	57,721	346,903
Total		144,283	926,856

Table 2. Estimated total bat mortality in Canada in 2020 based on the per turbine bat mortality reported in Zimmerling 2016²² and number of turbines in the Canadian Wind Turbine Database²³. Estimates follow the methodology of Zimmerling 2016²². See Hein and Schirmacher²¹ for a review of methodology and biases associated with total fatality estimates.

Ducines /Towitows	Mean bat	Number of Turbines	
Province/Territory	fatalities / Turbine ²⁹	in 2023 ³⁰	Total Mortality
Yukon	1.5	2	3.0
Northwest Territories	1.5	4	6.0
British Columbia	4.2	292	1,226.4
Alberta	10.9	900	9,810.0
Saskatchewan	11.7	153	1,790.1
Manitoba	23.3	133	3,098.9
Ontario	24.5	2663	65,243.5
Quebec	2.1	1991	4,181.1
New Brunswick	0.6	119	71.4
Nova Scotia	0.5	310	155.0
Prince Edward Island	2.1	104	218.4
Newfoundland and Labrador	1.4	27	37.8
Total		6,698	85,841.6